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If(a>3){
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» else If(a==2){
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EVTHHANENETEIND

}
If >else if »elseDEFTEHIh NS




char

charc="a; /I T*1TH<I)

printf(“%c”, c);  /TalhEASNDIET
scanf(‘%c”, &c);  MREANDLIXFFS

1%d %% [Dligits
/] %cC X Clharacter
| %s  XF5| [S]tring




switch X.. A YFX

switch( statement ){ /Istatement| X Z 25 D A0k
case O:
printf(“0”);
break;, /lbreak=1%9 , BEZIRL TIRITHI D= ! !
case 1: /lbreakL7ELrEF D FEEHES . Switch® Bk
case 4: IZRILDEFIERILLTHOK
l orintf(“1 or 4):
) break;
default:
/l printf("another.”);
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}
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#include <stdio.h>

Int main(void){
Int a;
scanf(“%d”,&a);
iIf(al=10){
printf(“I& 9 11¥n”);
lelse{
printf(“é7=Y¥n”);
}
}
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